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ADC of raw hits at time bin 0 vs. channel geometry ID
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ADC of raw hits at time bin 1 vs. channel geometry ID
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ADC of raw hits at time bin 2 vs. channel geometry ID
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ADC of raw hits at time bin 3 vs. channel geometry ID
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ADC of raw hits at time bin 4 vs. channel geometry ID
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ADC of raw hits at time bin 5 vs. channel geometry ID
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ADC of raw hits at time bin 6 vs. channel geometry ID
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ADC of raw hits at time bin 7 vs. channel geometry ID
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ADC of raw hits at time bin 8 vs. channel geometry ID
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RMS noise of raw hits vs. channel geometry ID
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ADC of hits vs. sensor ID
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RMS noise of hits vs. sensor ID
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Max time bin of hits vs. sensor ID
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Cluster size of hits vs. sensor ID
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Cluster size in Z of hits vs. sensor ID
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Cluster size in r-@ of hits vs. sensor ID
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IST hit map in r-phivs. Z
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IST hit map in APV geometry Id vs. ladder
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Global X vs. Global Y
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Global @vs. Global Z
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Raw Hit column vs. row: Ladder 1 Sensor 1
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Hit mean column vs. mean row: Ladder 1 Sensor 1
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Number of raw hits vs. EventID: Ladder 1 Sensor 1
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Raw Hit column vs. row: Ladder 1 Sensor 2
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Hit mean column vs. mean row: Ladder 1 Sensor 2
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Number of raw hits vs. EventlID: Ladder 1 Sensor 2
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Raw Hit column vs. row: Ladder 1 Sensor 3
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Hit mean column vs. mean row: Ladder 1 Sensor 3
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Number of raw hits vs. EventlID: Ladder 1 Sensor 3 numOfRawkitsVsEventid_Sensor3
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Raw Hit column vs. row: Ladder 1 Sensor 4
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Hit mean column vs. mean row: Ladder 1 Sensor 4

Mean Row

Mean Column

Sun Feb 23 14:07:05 2014



Number of raw hits vs. EventlD: Ladder 1 Sensor 4 numOfRawHitsVsEventld_Sensor4
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Raw Hit column vs. row: Ladder 1 Sensor 5
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Hit mean column vs. mean row: Ladder 1 Sensor 5
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Number of raw hits vs. EventlID: Ladder 1 Sensor 5 numOfRawkitsVsEventid_Sensors
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Raw Hit column vs. row: Ladder 1 Sensor 6
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Hit mean column vs. mean row: Ladder 1 Sensor 6
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Number of raw hits vs. EventlID: Ladder 1 Sensor 6
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Raw Hit column vs. row: Ladder 2 Sensor 1
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Hit mean column vs. mean row: Ladder 2 Sensor 1
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Number of raw hits vs. EventID: Ladder 2 Sensor 1 numOfRawHitsVsEventid_Sensor?
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Raw Hit column vs. row: Ladder 2 Sensor 2
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Hit mean column vs. mean row: Ladder 2 Sensor 2
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Number of raw hits vs. EventlID: Ladder 2 Sensor 2 numOfRawHitsVsEventd_Sensor8
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Raw Hit column vs. row: Ladder 2 Sensor 3
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Hit mean column vs. mean row: Ladder 2 Sensor 3
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Raw Hit column vs. row: Ladder 2 Sensor 4
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Hit mean column vs. mean row: Ladder 2 Sensor 4
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Number of raw hits vs. EventlD: Ladder 2 Sensor 4 pumOfRawHitsVsEventid_Sensor10
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Raw Hit column vs. row: Ladder 2 Sensor 5
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Hit mean column vs. mean row: Ladder 2 Sensor 5
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Number of raw hits vs. EventID: Ladder 2 Sensor 5
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Raw Hit column vs. row: Ladder 2 Sensor 6
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Hit mean column vs. mean row: Ladder 2 Sensor 6
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Number of raw hits vs. EventlD: Ladder 2 Sensor 6 pumOfRawHitsVsEventid_Sensor12
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Raw Hit column vs. row: Ladder 3 Sensor 1
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Hit mean column vs. mean row: Ladder 3 Sensor 1
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Raw Hit column vs. row: Ladder 3 Sensor 2
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Hit mean column vs. mean row: Ladder 3 Sensor 2
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Raw Hit column vs. row: Ladder 3 Sensor 3
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Hit mean column vs. mean row: Ladder 3 Sensor 3
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Raw Hit column vs. row: Ladder 3 Sensor 4
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Hit mean column vs. mean row: Ladder 3 Sensor 4

Mean Row

Mean Column

Sun Feb 23 14:07:06 2014



Number of raw hits vs. EventlD: Ladder 3 Sensor 4 pumOfRawHitsVsEventid_Sensor16

Entries 1013
Mean 1753
Mean y 2.72
RMS 1056
RMSy 3.189

16

<rawhits>

12

Wb

ofl |

RN 8O T 1 N
At HH i
O :l{-lﬂ-l --l-- i\u-l |“m|- -|-{ |{|_-{|‘{-{ |{-;- |---| -;--i-_l- “l_ |_ _|-|-_| _| -|- -;--i--_l -“j |- ‘\‘ | }l 1 1 1| | 1 11 1 | 1 11 1
0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000
Sun Feb 23 14:07:06 2014 EventID (Time)




Raw Hit column vs. row: Ladder 3 Sensor 5
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Hit mean column vs. mean row: Ladder 3 Sensor 5
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Number of raw hits vs. EventlID: Ladder 3 Sensor 5
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Raw Hit column vs. row: Ladder 3 Sensor 6
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Hit mean column vs. mean row: Ladder 3 Sensor 6
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Raw Hit column vs. row: Ladder 4 Sensor 1
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Hit mean column vs. mean row: Ladder 4 Sensor 1
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Number of raw hits vs. EventlD: Ladder 4 Sensor 1 humOiRawHitsVsEventid_Sensor19

. . . . . . . . Entries 1013
1 e e e e e i Me@n 1753
- |Meany 2034
L js 1086
n 5 5 5 5 5 ’ ’ - |RMSYy 2521

<rawhits>

A T R T R e

.................................................................................................................................................

10

AL R

1 1" 1 | |
OO 500 1000 1500 2000 2500 3000 3500 4000 4500 5000

Sun Feb 23 14:07:06 2014 EventID (Time)




Raw Hit column vs. row: Ladder 4 Sensor 2
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Hit mean column vs. mean row: Ladder 4 Sensor 2
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Number of raw hits vs. EventlID: Ladder 4 Sensor 2 pumOfRawHitsVsEventid_Sensor20

Entries 1013
Mean 1753
Mean y 2.319

18

<rawhits>

L6t [RMS 1056

RMS y 2.793

12
10

e e e e e e

il 1 | O 11 S
2k [ - i ‘!4 il %":; JEH (R S

{i | i | I 1 1 | | I 1 1 | 1 11 1 | 1 1 d “ | | 1 | | I{I | “ I | | I | | I |
500 1000 1500 2000 2500 3000 3500 4000 4500 5000

Sun Feb 23 14:07:06 2014 EventID (Time)




Raw Hit column vs. row: Ladder 4 Sensor 3
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Hit mean column vs. mean row: Ladder 4 Sensor 3
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Number of raw hits vs. EventlID: Ladder 4 Sensor 3
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Raw Hit column vs. row: Ladder 4 Sensor 4
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Hit mean column vs. mean row: Ladder 4 Sensor 4
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Number of raw hits vs. EventID: Ladder 4 Sensor 4
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Raw Hit column vs. row: Ladder 4 Sensor 5
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Hit mean column vs. mean row: Ladder 4 Sensor 5
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Number of raw hits vs. EventlID: Ladder 4 Sensor 5
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Raw Hit column vs. row: Ladder 4 Sensor 6
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Hit mean column vs. mean row: Ladder 4 Sensor 6
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Number of raw hits vs. EventlID: Ladder 4 Sensor 6
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Raw Hit column vs. row: Ladder 5 Sensor 1
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Hit mean column vs. mean row: Ladder 5 Sensor 1
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Number of raw hits vs

. EventID: Ladder 5 Sensor 1
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Raw Hit column vs. row: Ladder 5 Sensor 2

Sun Feb 23 14:07:06 2014



Hit mean column vs. mean row: Ladder 5 Sensor 2
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Number of raw hits vs. EventlID: Ladder 5 Sensor 2
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Raw Hit column vs. row: Ladder 5 Sensor 3
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Raw Hit column vs. row: Ladder 9 Sensor 5
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Raw Hit column vs. row: Ladder 9 Sensor 6
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Raw Hit column vs. row: Ladder 10 Sensor 1
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Raw Hit column vs. row: Ladder 10 Sensor 3
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Raw Hit column vs. row: Ladder 10 Sensor 4
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Raw Hit column vs. row: Ladder 15 Sensor 3

Row

Sun Feb 23 14:07:09 2014 Column



Hit mean column vs. mean row: Ladder 15 Sensor 3

Mean Row

10 12
Mean Column

Sun Feb 23 14:07:09 2014



Number of raw hits vs. EventlID: Ladder 15 Sensor 3 pumOfRawHitsVsEventid_Sensora?

: : , : : . . . Entries 1013
| o o T e ! Mean 1753

5 5 5 5 5 ] : [ Meany .
: : : : : : : |RMS 1056
RSN B H— T T S— — i/ RMSY 3,051

16

<rawhits>

14

.................................................................................................................................................

12

o o
IIIIIIIIIII

e
it -

OIIII 1 1 1 IIIilI{I_-I_“i-I-"I“I-I“-i—nl-lIIiIIIIiIIII

0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000
Sun Feb 23 14:07:09 2014 EventID (Time)




Raw Hit column vs. row: Ladder 15 Sensor 4
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Raw Hit column vs. row: Ladder 18 Sensor 5
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Row

Sun Feb 23 14:07:10 2014 Column



Hit mean column vs. mean row: Ladder 19 Sensor 2

Mean Row

Mean Column

Sun Feb 23 14:07:10 2014



Number of raw hits vs. EventlID: Ladder 19 Sensor 2 numOfRawHitsVsEventld_Sensor110

. . . . . . . . Entries 1013
DO bt | Mean 1753

<rawhits>

18:____________5 _______________ o L L - L ¢ |Meany = 2.148
- : : : : : . |RMS 1056

L6 RMSY 2,681

F] R S T S T s T S———

O ey T s s Y e o
LOf

..................................................................

I *iLi"ﬁ'j —
R

{IIIIlIIIIlIIII

0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000
Sun Feb 23 14:07:10 2014 EventID (Time)

......................................................................

N b~ OO @

()




Raw Hit column vs. row: Ladder 19 Sensor 3
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Raw Hit column vs. row: Ladder 19 Sensor 4
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Raw Hit column vs. row: Ladder 19 Sensor 6
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Raw Hit column vs. row: Ladder 20 Sensor 1
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Raw Hit column vs. row: Ladder 20 Sensor 2

Sun Feb 23 14:07:10 2014



Hit mean column vs. mean row: Ladder 20 Sensor 2

Mean Row

Mean Column

Sun Feb 23 14:07:10 2014



Number of raw hits vs. EventID: Ladder 20 Sensor 2

numOfRawHitsVsEventld_

Entries

14

<rawhits>

12

R

-i_-l--l |-I I“

O 1 1 1

................................................................................................................

.....................................

]O__ .......................................... e e bt
.....................................
.....................................
...................................................

'|_ T e Y
A SN N L

Mean

------- Mean y

RMS

"""" RMSy

0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000

Sun Feb 23 14:07:10 2014

EventID (Time)




Raw Hit column vs. row: Ladder 20 Sensor 3
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Raw Hit column vs. row: Ladder 20 Sensor 4
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Raw Hit column vs. row: Ladder 20 Sensor 5
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Raw Hit column vs. row: Ladder 20 Sensor 6

Row

60

50

40

30

20

10

Sun Feb 23 14:07:10 2014 Column




Hit mean column vs. mean row: Ladder 20 Sensor 6

60

Mean Row

50

40

30

20

10

Sun Feb 23 14:07:10 2014 Mean Column



Number of raw hits vs. EventlID: Ladder 20 Sensor 6 nUMORawHitsVsEventid_Sensor

Mean y

<rawhits>
[

. . . . . . . . Entries 1013
Ui Mean 1753

0

- |RMs 1056

0

e LY
e e
O

T -

O_IIIIillIIillIIillIIillIIillIIiIIIIiIIIIiIIIIiIIII

0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000
Sun Feb 23 14:07:10 2014 EventID (Time)




Raw Hit column vs. row: Ladder 21 Sensor 1
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Raw Hit column vs. row: Ladder 21 Sensor 2
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Number of raw hits vs. EventID: Ladder 21 Sensor 2
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Raw Hit column vs. row: Ladder 21 Sensor 3
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Raw Hit column vs. row: Ladder 23 Sensor 1
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Raw Hit column vs. row: Ladder 23 Sensor 3
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Raw Hit column vs. row: Ladder 23 Sensor 4
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Raw Hit column vs. row: Ladder 23 Sensor 5

Sun Feb 23 14:07:11 2014



Hit mean column vs. mean row: Ladder 23 Sensor 5

.___;,: "

e

‘_ ___u__ |

___,______________,_,___

O
MOy US|\

30

Mean Column

10

Sun Feb 23 14:07:11 2014



Number of raw hits vs. EventID: Ladder 23 Sensor 5 numOfRawHitsVSEventld_

Entries

18

<rawhits>

16

14

12
10

BN o (00]
11 i

N

il
I,

0

il EE

.......................

iIll{lll

}_,tiw‘w"‘ﬁlw..

Wi I

Mean

0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000

Sun Feb 23 14:07:11 2014

EventID (Time)




Raw Hit column vs. row: Ladder 23 Sensor 6
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Raw Hit column vs. row: Ladder 24 Sensor 4
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